Formulaire lié A la transformation en Z

Signal causal Transformée en Z
n +— z(n) pour n €N 2z (Zx)(2)
e(n) =1 (Ze) (2) = Zf -
{3((7332 (1)szn7é0 (Zd) (2) =1
r(n)=n (Zr)(2) = (z_zl)z
c(n) = n? (Zc) (2) = ézj—l)lz
f(n)=a", a €R—{0} (Zh () =
y(n) = a"a(n), a eR—{0} (2y) () = (z2) (2)

y(n) = z(n — ng), (n — ng) €EN
ou (Zy) () = 27" (Z2) (2)

y(n) = x(n — ng)e(n — ngp)

y(n) = xz(n +1) (Zy) (2) = z[(Zx) (2) — x(0)]
y(n) = x(n+2) (Zy) (2) = 2 [(Z2) (2) — 2(0) — z(1)z "]
(Zy) ()

20 [(Zi) (Z) - x(O) — x(l)z*l _ (L‘(Q)ZiQ R f(n() _ 1)27(71071)]




